ELCE 2240 HOMEWORK #5 prob 3 solution U
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The op-amp operates in the linear mode. Using an appropriate model of the op-amp,
derive an expression for v, in terms of not more than iy1, iz2, Ry, and Rp.
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We use Ohm's law or V-drops across R'd-
Vi= Z’l R\ and Vo = (2 Rz
The R's are ¢(h series with ( sources.



The dotted Line shows the only V—looP
hot quslmj -l:hrouﬂl‘\ a current Ssource.

-t R -0V =-1,R; =V, =0V
We substitute For U, and i..
s l’q?_Kl — l.,ql R’2.~ VO = OV

Solena for Vo, we have -the exFPeSSLon
we seek,

Ve = -(,qul— Ly Ry



